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TF gemL e § fefated § 9
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1) SEn Ride
2) 3iq forEmar
3) U= FHAA
4) TR R

[ Level-3/1311]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,

under Erikson's Psycho-social

development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

P.T.O.
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4. Which of the following characteristics

does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal
Development' refers to :

1) What the <child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable
person

4) What the child can't do even
under guidance of
knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the

reason ?

1) Formative
2) Diagnostic
3) Remedial

4) Summative
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e & U & ge ot fhEs
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1) THo Hio Tho 2005
2) Udo Fﬁo éo 3o éTo
3) I
4) FFE®
8. 3is T fomw # fhe U & Raad
A § ?
(@) X & MHR ¥ qRaad
(b) SRR & g # qReA
(c) YU Tl &l foeiia
(d) A faQiarett 1 AR
7& T F T BT
1) (), () W (c)
2) (a), (b) W (d)
3) (a),(c) W (d)
4) (a), (®), (c) W (d)

9. Ffafag & § dF-a1 Fa FREROT
& AT R GHRIEE T919 W 787

T ?

1) ARTERIT dEq & FdeR & &
FHC B

2) WM HEeW & FGRR  H
ffea fRem o™ & &

3) ARTROmT HEew % FGeR H
IR SIS

4) T HEW & FGRR B
T ST ©
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"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT

3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (@), D) & (d)

3) (@,() & (d)

4) (@, ®), (©) & (d)

Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation impairs learning
behaviour

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning
behaviour selective
P.T.O.
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4) gﬁaq?ﬁa%wﬁaﬁrﬁwﬁﬁﬂﬁ
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Match the stages of morality with
their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and I
exchange

(c) Social contracts and II1
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ ® (@© @
1) 1 III II I
2) III II Im 1
3) II 111 I II
4) 11 I Im I

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is

not true regarding biological

motives ?

1) They are universal

2) They are inborn

3) They are essential to survival

4) They are not related with
homeostatis in the individual
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13. Frafafed & & @9-@ e g
&R AT T H AR § 7

() forad

(b) HRaH

(c) AR

(d) s

7& FE F TIT BN :
%< -

1) (a), (b) W (d)

2) (a), (b) W (c)

3) (a),(c) T (d)

4) (a), (), (c) W (d)

14. F=fafad & & @@ H99 IR
qlerl & ded § w9 78 8 7

1) Todeiss & 99 TN J0e9 Th
fereares gieror B

2) qMfs® RO qafRe ot
qfed a1 TER & 8 g

3) ST A MwEE gl el
H G|

4) FgmiEh TRl H OgRE B A
el wd oTpicRl BT B &
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Which of the

examinations are the basis of

following

continuous and comprehensive

evaluation ?
(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (b), (c) & (d)

Which of the following statement is
not correct in reference to

intelligence tests ?

1) Alexander's Pass along test is a

performance test.

2) Verbal test can be either

individual or group.

3) Illiterate people cannot do

performance test.

4) In non-verbal tests intelligence
is measured through pictures

and figures.

P.T.O.
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15. frfefaa & & d9- JH A & 15. Which of the following pair is not

Promar ﬂ@ frsid & o ﬂ@ @ correct regarding elements of
dd T 39 AOM 3 dey § TR intelligence and their dimension,
T %? under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension
g@f % @ SN Intelligence
1) IHE IS 1) Unit Product
2) G fshar 2) Cognition Operation
3) Hedih fspar 3) Evaluation Operation
4) gy ferrerereg 4) Relations Content

16. frfefag & @ @9-d 9@ *f=Ea 16. Which one of the following is not a

HARFM gRehol Hl TqE Qv 78 key feature of child centred

g7 learning approach ?

1) TRE HeEe & oEEr 1) Meaningful learning

opportunities

2) Uehdl 78T T 2) Single learning pathway

3) Hdad W 3) Continuous assessment

4) {™ fareror |fdT| 4) Accessible learning settings
17. 990 & AR, N Hie| @l 11. According to Bandura, which is not

HN-G SraHeeT Uk 78 & ? the interrelated processes of

observational learning ?

1) SAIYEIHS BIEDIIY 1) Attentional Processes

2) gIUMHD BIEDIY 2) Retentional Processes

3) RS TR 3) Motivational Processes

4) DIEEI e P 4) Conjunctional Processes

[ Level-3/1311]
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4) T HIE (3F5H) qeH

uh ot fRitaar St SR
HIAT B AFE Pl TATIT B &€ ¢
1) ehagar 2) feenfter
3) fewifrmr  4) fedifafemn

WS & Hlneh G i @

Ul SRSl & Fel hH B =FET

HIPT

1) gEEer — i ggEmEeEr -
HAIRME - TR -
EREIE-RIEIS)

2) TEEEl — FEEEe — [T
JgEER —  SEEAEer -
RCICEI]

3) gEEEl — TEEET - [
qgEER > eIl -
ERRIE-RICIS)

4) FIFERA - EEE -
qEEe — SEAEgEE — T
BEIEIEIS|
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According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

P.T.O.
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22. Yg@@ & 9 OHEI?FT R 22. According to Pavlov's Classical

fsia & SINKIRE (SR IECAG] \ﬂfﬁﬁlﬁ Conditioning theory of learning,
SEIUH B ERﬂ?ﬁ?b_{'UT T HY-GT BB which temporal sequence
Y GE B Gaifes gead HEm ? presentation of natural and
conditioned stimuli will most affect
learning ?
1) G HHID 1) Simultaneous
2) fowifaa 2) Delay
3) Gaa 3) Trace
4) GLTH 4) Backward
23. O™ & deeiers foer Risid @ 23. In which stage of Piaget's Cognitive
fpe  ofaem H GTEKf i @ Development theory does the
ARG B e faeiea & Sl ability of abstract thinking and
g7 generalization develop ?
1) KECEILE 1) Sensory motor
2) Yd-HishaTeh 2) Pre-operational
3) ﬁ—ﬁﬁﬂ?ﬁiﬁ 3) Concrete-operational
4) SMroenRep-wfshareen 4) Formal operational
24, UiqweTell fEnfRt & fow FrefoRad 24. Which of the following educational
T q - s Fawen 7@ @ T arrangements shouldn't be made
ey ? for talented students ?
1) @ ooiee & & oTaax 1) Opportunities for independent
project work
2) I 2) Acceleration
3) SUARIHH e 3) Remedial teaching
4) RECRIEIRE 4) Enrichment program

[ Level-3/1311]
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freifofeg & ¥ 9-a1 go@sh fwem
H TF sid 78 & 7

1) TRl & i

2) T @ f=ia

3) fafdear &1 Sis9 79 &1 osid
4) T & R & f&sia
frfafag § @ fF-a1 d@ Jafs

Rreraiell & orgaR Reor & gwedq
7&f o ?

1) foeniEl & s=1 998
2) JARTH TR
3) UIgIshH H R

4) TaaRigl o avae @1 a9

fafaree  omasEeRdTAl A T=E
AEPEN B QW FE H Jem
T T g 78 o

1) [S91 4S99 &% fOened | masr &+

2) gau g glaEmd sem B

3) I T STETHar B TEAMI
Ud eI § el @

4) 32 HAETH HEEd Qa8 G
HET

[ Level-3/1311]

25.

26.

21.

GET IT ON
Google Play

[11/A]

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special need ?

1) Admission to school without
discrimination

2) Provide
infrastructural facilities

accessible

3) Identify their special needs

and exclude them from
mainstreaming
4) Provide necessary support
services
P.T.O.
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28. fr=fafad & @ d9-91 &9 e 3

29.

30.

g § o 78 B ?

1) [9FE IREET T ST Hw
3@ B

2) URR @ & g | a1 Al
foeprg atfres iR 2 B

3) fomm fox @ W & fRsm & om
T Bl

4) fopE =g o ¥ B # SR
T Bl

THEs e & Bemrh Rsia has
/T ufquifed fehar ar ?

1) iy, X Td Rrres
2) WX ug forent

3) WHBAT TG &R

4) odel, Sfed Td g

“HMIHTT H o1 & g gee
¥ gRUFadr ST | & 98
g fhes a o & i R O?

1) S St
2) We
3) R
4) BWH

28.

29.
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Which of the following statement is

not correct in context of

development ?

1) Development is the product of

maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of

the inclusive education

propounded by whom ?

1) Giriffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey

2) Garret

3) Sorenson

4) Hurlock

[ Level-3/1311]
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31.

32.

33.

34.

fqQwer & deg # dHi-ar @é gatad

7ET T ?

1) ARG - |51 9 i &k

2) UiEaH - faQier & IavEen

3) UREH - JorErE Qe

4) Y - G § FEa HEaEs
El

g foecy # =-g™ & TE Y 9
7 77

1) Sf - &@, ael - gt

2) WY - &9, §Y - &d

3) IR - =&, FIERT - ASl
4) HR - Hidl, g - A

HI-91 H @@ 78 © 7
1) s - am I
2) HK® - qa9d 9=
3) faast - W 9=
4) VA - ke o=

frefafeg & @ 59 faed &1 9=
wfy-faees # e @ @ § 7

1) HIMET = FA + AEH

2) Y = amr + ST

3) AMHIN = T h + 0

4) TgH = Y + A

[ Level-3/1311]

35.

36.

31.

38.

fp faheq & WHE W gl
A H ISET 78 & °

1) QST SO
2) dHsaTd, RS
3) YA, HarEd
4) UERR, qgqufa

frg fabeq #1 = ‘o ITEd A
T 7&f = ?

1) M

2) it

3) I

4) IFER

e # 9 e 9T @ 9= faeee
Tt 9 fafa § °
1) Gedtad, siferr
2) ST, FHHEL
3) Regd@R, ST

4) TSR], B

EaE 9|l ® d9g ¥ -
fereq ofgfaT @ °

1) I=AT - fEHRT, rgdiy], wede
2) &S - G, JuHl, A&

3) T=_A - TNEN, JAge, QU
4) T - FERAICH], ST, YR

P.T.O.
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39. AN e d e faseq & a+ff 9=
g E 7
1) T, @R
2) TG, SEY
3) e, e
4) RfE, T

40. ‘TR TMHl ¥ 9RG H AR BT’
ST ad § @ifed I HAM R
1) SHiFdares HsM qeT Sicaraeh G5l
2) Siiadreds G qo1 AgarEs ds
3) Hiddrash Gsl T Afkiars ds
4) HEqED G AT Alddreh G5

41, = ¥ 9 59 qeR B A €6 78

g7

1) T W ) T BN - SR
B

2) Y F T TX A - foFT O™
% P A9 T BT AT

3) T e UMl dNT - A &R
S SIS

4) FAM 9 qR a0 - feet @
g Gl

42. a1 & HdY H ofgfaq e T

1) & & AR W B6a & ‘dHie
wd ‘oTEHE & 9T AW S S

2) gﬂﬁﬁ@ﬂéﬁﬁﬁﬂﬁ%ﬁﬁ?ﬁ@?ﬁ
[

3) T g7 @ & foramn s’ I
qrR # RO AT SgE &8 o

4) ‘SiogEr, ‘ASAA’ T U
AT BRa % SRR B

43.

44.

45.

GET IT ON
Google Play

M & ey ¥ PN-a1 B FET

g ?

1) T % MR W 9999 & B8
AT

2) ‘B JA FY  ACEIIEE
I I

3) ‘TEVEEE AW & IR e AW
ST &

4) FrG gM @ R & UG e
[ B B aEg B A A R
39 FerEaras 9dm ®ed 2

fre faeq 4 Rodaeis 3= ommT
T ?

D 99T - Jadd

2) T - HENE

3) &9 - ad

4) M - WE

THT ® MU THA 9= P Gey H

ST T T
1) S & H g | IFRE T & -
3y

2) Frad =18 Bz 7 & - Ay
3) 4R § oM Al HAFT - A

4) N HoE WM P fow Sk -
R

[ Level-3/1311]
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Direction : Answer the following questions by selecting the most appropriate option.
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[15/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face agreatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1311]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.
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[16/A]

53. Which of the following sentences is
the correct option to express a
probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

54. Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

55. Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

56. The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

GET IT ON
Google Play

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,A,C,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1311]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

HET- 1l / PART = 1lI
qHN AHY / GENERAL STUDIES

GET IT ON
Google Play

[17/A]

RS QdT, diihe SRl el 9T S U9 IREIM / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

fraer : fefafad gl & SR 39 & e @98 S faske g

Direction : Answer the following questions by selecting the most appropriate option.

61. I A 4 RBX & I WX IO f&em
# R oAl Je F@ @l ©, ol
SHS 919 B H R B

1) I3
2) UltEH

3 T
4) IR-UIRTH

62. T% A 20 [l g0 & &I & e
¥ uF gue # qur I g0 H@ AW @l
footg s & 2 9@ & @@ O F,
@ AT ST A9 B A ®

1) 10 fH1/=0er
2) 12 fHHI/a9e
3) 13 fHI/aven
4) 15 Al guer

63. 15 Fidl & TP H 7 Ak

[ Level-3/1311]

61.

62.

63.

If A stands on his head with his
face towards North, in which
direction will his left hand point ?

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12 km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and
English both ?

1) 0 2) 3
3) 4 4) 5

P.T.O.
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[18/A]

64.

65.

66.

61.

TF Fem § 35 foEnii H, A & w®N
9 9 7d W U@ B & WM IW q
oF WM W & T C & &N 37 Nl
H O AT HE, A C & W AH
He-AT B ?

1) odf
2) 108t
3) 114
4) 128t

Ueh %= e A § 'CEG' &l ‘TSR’
qg FH]' & 'QPO' for@m ofem 8, af
TH @AM AW H OIRKM' @ femr
SR

1) NOP

2) NOL

3) NMK

4) NML

Rl EAML ¥ fhaq orfe o= 913
ST 9 B 7

1) 1

2) 2

3) 3

4) 4

uh fafa Sgys d aiie Hv
& BT B 7:2 8, @ 9
TS A TSl dH WA B

1) 7 2) 8

3) 9 4) 11

[ Level-3/1311]

64.

65.

66.

61.

GET IT ON
Google Play

In a class of 35 students, A is
placed T7th the bottom
whereas B is placed 9th from the

from

top and C is placed exactly

between these two. What is A's
position from C ?

1) 9th
2) 10th
3) 1lth
4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP
2) NOL
3) NMK
4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1
2) 2
3) 3
4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11
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68.

69.

10.

11.

= |V

frfafed @& S & SFET 0
ST I
2,3, 10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

T A BN TF o B T 8 g9 H,
T B T 1 dF P I 6 gUC F
A o HhaT 21 IR AT A B T
Y 2 g9¢ & U @iem & 99E T
A P F< FK A Y, @ 7@ B W
ST & e AT T ?

1) 2 g2 ¥

2) 2% g9 §

3) 3 gwe d

4) 3% g {

gfe forer ffdea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 81 = 29 &,
G Yed § 47+33 F A B :

1) 40
3) 38

2) 41
4) 53

g 17 RE=R, 2002 H qFER A,
o 22 RE=R, 2004 #H HF-Ar R&H
oqr ?

1) War

2) e

3) R

4) TR

[ Level-3/1311]

68.

69.

10.

11.

GET IT ON
Google Play

[19/A]

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
2) 2% hours
3) 3hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 % 81 = 29, then
in the same pattern the value of
47 %« 33 is:

1) 40 2) 41
3) 38 4) 53
If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday
2) Saturday
3) Monday
4) Tuesday

P.T.O.
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[20/A]
72. o) T SFET UE R 12. The next of the series is:
Z1A, X2D, V6G, T21], ? Z1A, X2D, V6G, T21], ?

1) R8IM 1) R8TIM
2) R8IN 2) R8IN
3) R88P 3) R88P
4) R88M 4) R88M

73. 3OS qoiHmN g, @ "I"i£ Iprt F 13. In English alphabet, the number of
HAFT PR ® HAH B3 T SPER Hl letters skipped in between
9 T d FH Bl S %, adjacent letters in the series is
frafofag afmt § aF-@ 9 e decreased by one. Which of the
T IS B & 7 following series observes the rule ?
1) DJOTV 1) DJOTV
2) DJOSV 2) DJOSV
3) DJOSW 3) DJOSW
4) DIOSU 4) DIOSU

14, x-3%, y-3& T 4x+3y =12 G 74. The radius of the circumcircle of
e %f‘ﬂ\_rf ® CBIEE! P B T the triangle made by x-axis, y-axis

and 4x+3y =12 is:

1) 2 @ 1) 2 unit
2) 2.5 3HE 2) 2.5 unit
3) 3 TR 3) 3unit
4) 4 TR 4) 4 unit

75. I8 999 BlKl 91 9 Zﬁﬁm, fora 15. Find the least number which must
15463 # Sies WX U %A 107 9 be added to 15463 so that the
T‘W frefora & o ® resulting number is exactly

divisible by 107 :

1) 52 1) 52
2) 88 2) 55
3) Tl 3) 71
4) 76 4) 16

[ Level-3/1311]
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16.

11.

18.

19.

= |V

UMl H g H E g H PRt
ST ST 6 uT O b R g W
o W 20% & A B ?
1) 1:5 2) 2:8
3 3:5 4) 4:8

e FfiEd R @1 4% affe W W
2 99 % QT ThafE S Ud ER
S FH YT 8

1) 52:51
2) 52:50
3) 51:50
4) 53:50

%Ti%A,BaaTc?r%:

W |

ogua & el T Th AR R
R 4 e ggEg A A ST O &
50% e fan At af & o= H Fa
21,600 YA H AN A &, ol 9
T Y B R B

1) 2,400 &9

2) 3,600 &G

3) 4,000 &G

4) 4,200 R

Uh A 20% Y 9 Th & i
SO B, A I I & 12 TW@
AiYe | o=, df IH 10% B AT
BITl 3 a%g H HY YA ©

1) 22 &1

2) 30 T

3) 36 T

4) 40 1

[ Level-3/1311]

16.

11.

18.

19.

GET IT ON
Google Play

[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51

2) 52:50

3) 51:50

4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7.4.5 After

2°3'5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

2) Rs. 3,600

3) Rs. 4,000

4) Rs. 4,200

4 months, A

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22
2) Rs. 30
3) Rs. 36
4) Rs. 40

P.T.O.
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[22/A]
Y%, % =
80. a1+_aa +11—+a\/g S
1) ﬁ
5 21
y L
4) %
81. Qe Ma G owared @
1) o R
2) FHoEe o |
3) IR P &

82.

83.

SR ECSIRESI

fhe BRAE 9 T, 2023 H AN
TS %l B [T ?

1) w9 o

2) eaiy [HeE
3) Iy R

4) Wifed

Ao & efated Togaen H 9
P oE W TH SR & ?

1) o gHdiRK

2) 4 JIwR g S

3) 4t sl ST W

4) & gL e geariern

[ Level-3/1311]

80.

8l1.

82.

83.

GET IT ON
Google Play

Ve —Va

al/zltaa_ +11__|_é:/g is equal to :

1) ﬁ

5 21

» L

4) %

ﬂistorical village Sugh is located

in:
1) Ambala district

2) Kurukshetra district
3) Yamunanagar district

4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia
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84

85.

86.

81.

= |V

. AEERE WU S G 0 g0 §
1) <9 ¥ 2) Parm ¥
3) g H 4) ead H
Mar S T9RE 9 A9 § "R
S 8 ?
1) s 3§ 2) AELY ¥
3) oM@ d§  4) o H

qg FeeeEE & gx H e
B @l T :

() 9E G & R )
(i) I8 TH TR 9
Gehierd @I, S GarE & &9 § B

7& HE F TIT BN :

1) 399 HIT (i) TEI 2

2) Had B (ii) eI 2

3) T A FAT (i) M A & BT (i)
T B

4) I FAF (i) R (i) T 2

[ Level-3/1311]

84.

85.

86.

81.

GET IT ON
Google Play

[23/A]

The evidence of Stupa of Mauryan
period is found at :

1) Topara 2) Bhiwani

3) Thanesar 4) Rohtak

Geeta  Jayanti Samaroh is
celebrated in the month of :

1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana
Who is the Chief Commissioner of

Haryana  Right to Service

Commission ?

1) ShriT. C. Gupta

2) Shri Vijay Vardhan
3) Shri Rajesh Khullar
4) Shri Vikas Gupta

Read the following statements
about Sadhu Nischal Das :

(i) He was a Dadu's disciple.

(ii) He compiled a book 'Vichar
Sagar' which is in form of
dialogue.

Choose the correct code :
1) Only statement (i) is correct.
2) Only statement (ii) is correct.

3) Neither
statement (ii) are correct.

statement (i) nor

4) Both the statements (i) and (ii)
are correct.

P.T.O.
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[24/A]
88. =RAMT ¥ RGN WoW dx FEl R 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) feR 1) Pinjore
2) qEIUd 2) Panipat
3) #EX 3) Jhajjar
4) TyEm 4) Bhiwani
89. BRIMM T Hedhrl ?ﬁ Td I 89. When the Haryana State Co-
foere arE o #t ®AT &9 ? operative Agriculture and Rural
Development Board Ltd. was
established ?
1) S¥adl, 1967 1) January, 1967
2) WY, 1966 2) November, 1966
3) A, 1980 3) March, 1980
4) SVEdl, 1996 4) January, 1996

90. =Emm # Ardl™ SChll MEnfen 90. Where in Haryana, the Indian

HEI el R B 7 Institute of Information Technology
is located ?

1) dHEa 1) Sonipat

2) qHIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3/1311]
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[25/A]
A - IV / PART - IV

i / COMMERCE

fraer : fefafad gl & SR 39 & e @98 S faske g

Direction : Answer the following questions by selecting the most appropriate option.

91. Q’Fﬁ Rafy  rad Al Hdie G| 91. A condition in which information
HiRT B TEEHT A | 3w | inflow exceeds an individual's
S ® processing capacity :

1) SFYERS bR 1) Informal communication
2) M e 2) Formal communication
3) HlH SRR 3) Accurate information

4) d&d B SRR 4) Information overload

92. IMEE Siad =h Xl forad fhel I 92. The product life cycle stage in

%l foer astt | El%ef AT © which a product's sales start
climbing quickly is :

1) UR=Eg =) 1) Introduction stage

2) q@ U] 2) Growth stage

3) URYI ST 3) Maturity stage

4) ‘El_gjﬁ IR 4) Saturation stage

93. frfifad & & dM-d & SE-3-3ia 93. Which one of the following is not
T Y 787 ' ? an off-the-job training method ?

1) A 1) Job Rotation
2) &l A 2) Classroom Lectures
3) s 3) Simulations
4) YIS HIRTE 4) Vestibule Training

[ Level-3/1311] P.T.O.
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[26/A]

94. %\FR-'I q Q'FIT RN HIAT ol 94. To make others behave in way in

T FTER T P - which they would not have
behaved otherwise :

1) Gl EIlc | CREC | 1) Need of affiliation
2) Ul FH ST 2) Need of achievement
3) qIfek &l STasTeRdl 3) Need of power
4) €T @ SELIHAT 4) Need of association

95. HEHIH adERel § qRadd & L'I?ﬁf 95. The process of monitoring and
AR fem & IR &R EEIFFT | evaluating the nature and

ofekar ® direction of change in the business

environment is :

1) TR A fIayer 1) Environmental analysis
2) TGEROg S BT 2) Environmental scanning
3) (1) X (2) It 3) Both (1) and (2)
4) Eﬁﬁ q El'ﬁ"é& Tet 4) None of these
96. T% HUH T $ € B fpEe 96. For creating a company we use :
ST & & 7
1) Alt+Fl 1) Alt+Fl
2) Alt+F3 2) Alt+F3
3) Alt+F2 3) Alt+F2
4) ESC key 4) ESC key

[ Level-3/1311]
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97. ¥& AR % Su¥Edm ®H & 9FW

98.

= |V

IR q9 d6 e @l 9 b %
9 T2 W W g o R &
e TR

1) o FH FaERen
2) IEE FH FIERN
3) RIS SFIERem
4) | [GUOF Staeren

U, a5 q° 9% S-SR |
dfed T WERR 21 1 3P, 2023 &
I Tol @ H AW T X 50,000,
ae ¥ 40,000 AT ST T 30,000 Bl
S ot @Ry T 220,000, A
3 2,000 T S T 5,000 B BH H
ST A BN B

1) T T 50,000, 9 T 40,000,
3§ ¥ 30,000

2) TR T 20,000, IR T 2,000, S
% 5,000

3) T T 70,000, 9 T 42,000,
3§ ¥ 35,000

4) = Q Hig T

[ Level-3/1311]

91.

98.

GET IT ON
Google Play

[27/A]

The idea that consumers will not
buy enough of the firm's products
unless it undertakes a large scale

selling and promotion efforts :
1) Selling concept

2) Product concept

3) Promotion concept

4) Societal marketing concept

X, Y and Z are partners sharing

profits in equal ratio. Capital

balances of 1lst April, 2023 are X

% 50,000, Y % 40,000, Z X 30,000.

Their private assets are : X

% 20,000, YR 2,000 and Z % 5,000.

What is the extent of their liability

in the firm ?

1) X ¥ 50,000, Y ¥ 40,000, Z
% 30,000

2) X ¥ 20,000, Y ¥ 2,000, Z
% 5,000

3) X % 70,000, Y % 42,000, Z

% 35,000

4) None of these

P.T.O.
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[28/A]

99.

100.

T qT ae 7:3 H A faeihid &
g SN B owH A S o 3/7 R
% foq sasr o ot 6 @' 2/7 @ 9
qU 1/7 a5 ¥ O HT 2 U, aE
qYT TS T 4T U BT

1) 7:3:3 2) 14:6:8

3) 29:11:30 4) 14:6:15

frfafag ot X foar #ifs -

HIT (B) : I B3 ST oM Sfqr
W T I s Jressl
B FHM H FEEHA el
g, @ P oI sda @
T HT qHAl Bl

Tb R) : oi B AT FH B IR
I8 SIER S e W I
T ghe F U Feer
B B 99 d% fF @A
S g B QU THH A
T B T

AT T JaX A & T Hend Qi

% oTgER g

1) AATR I 98 € X R, A
H TqE A= B

2) ASR RN @&l ¥ AfFT R, A
B T AT Tel B

3) A 99 & W R 76A B

4) A IEF & WY R & B

[ Level-3/1311]

99.

100.

GET IT ON
Google Play

X and Y sharing profits in the ratio
of 7 : 3 admit Z for 3/7 shares in the
new firm which he takes 2/7 from
X and 1/7 from Y. The new ratio of
X,Y and Z will be :

1) 7:3:3 2) 14:6:8
3) 29:11:30 4) 14:6:15

Consider the following statements :

Assertion (A): If a shareholder
fails to pay the
amount of one or
more calls on his
shares, the
company may
forfeit his shares.

Reason (R) : Even after the
forfeiture of
shares, that share-
holders is
responsible to
pay the amount
due from him until
the company
receives full
amount on those

shares.
Now select your answer according
to the coding scheme given below :

1) Both A and R are true and R is
the correct explanation of A.

2) Both A and R are true but R is
not the correct explanation of A.

3) Aistrue butRis false.
4) Aisfalse butRis true.
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IR APA 4 : B qU @RA ITIA
5:7 % IR = @ X 38,50,000

2, A ©fH B R

1) 35,000
3) 23,000

2) 30,000
4) % 3,50,000

fPd & o S9-fARER & 25,000
U g3 qA IEH AHS T H
el d@r H¢ foEr o Y '™ @
fee & T H E, T | ¢

1) sfe @ IR B & AT A
¥ 10,000 3186 B

2) efee @ AN ®ise & AT W
% 5,000 1% B

3) o UAftedqi & @Rl B W AN
EEESIERI

4) T 9 FE T

el oRa (VR) & oTREeM @
PIROT B T ©

() Tl gREee

(b) I ol & gar

(c) faerep a1 o Hicery

(@) I A FA ARYE & g
IR & 9 & gRads

1) I (a) dad

2) ST (a) R (b) AT

3) (a), (b) IR (c)

4) T4l (a), (b), (c) AT ()
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[29/A]

Current ratio is 4 : 5 and quick
ratio is 5 : 7. If current liabilities
are I 3,50,000,
inventory is :

1) 35,000

3) 3,000

the amount of

2) 30,000
4) % 3,50,000

% 5,000 received from sub-tenant
for rent and entered correctly in
the cash book is posted to the
debit of the rent account. In the
trial balance :

1) The debit total will be greater
by 10,000 than the credit total.

2) The debit total will be greater
by 5,000 than the credit total.

3) Subject to other entries being
correct the total will agree.

4) None of these

Obsolescence of a depreciable
assets may be caused by :

(a) Technological changes

(b) Improvement in Production

method
(c) Legal or other restrictions

(d) Change in market demand for
the product or service output

1) Only (a) above
2) Both (a) and (b) above
3) (a), (b) and (c)
4) All (a), (b), (c) and (d)
P.T.O.
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[30/A]

104. X IR & [I68 W< &9 @ T 104. Money received against share
U ST T R warrants is shown as :
1) S{TERH B B 1) Shareholders funds
2) CALEAIER CRIE 2) Long term provisions
3) ST e aalar 3) Other long term liabilities
4) I T I 4) Other current liabilities

105. ITERI T E@\% ® foTa SIS B 105. Provision for Discount on Debtors :
1) SR BEDISE] 1) An appropriation of profit
2) N9 T T S 2) A charge on the revenue
3) FaHE Hl T 3) Anincome of the business
4) q 9 Eﬁ"i& Tt 4) None of these

106. ffofad & @ $9-a1 SRR A 106. Which one of the following is not a
B AT T B 7 characteristic of  charismatic

leader ?
1) 3fte AR it 1) Vision and articulation
2) AR SREH 2) Personal risk
3) FIE H FEWTHAS B Ui 3) Sensitivity to follower needs
LECENIRKI]

4) WA FqeR 4) Conventional behaviour

10Z. T% @ET, eical Ged o RAC] 10Z7. A small, core organization that
AEH®  BEAT P STSCHE BT outsources major business
g functions is :
1) € fRd €ed 1) Boundary less organisation
2) STHEl §e 2) Virtual organization
3) fremefi Erew 3) Learner organization
4) G G 4) Simple organization

[ Level-3/1311]
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AEY S B SR SEies ok SdE
forariisTeT ® S © ¢

1) Sfed G
2) FE &
3) Afead GoE

4) IORA GEAT

fr=ffeg & @ -1 yadl g9 §
aer 78 B ?

1) &
2) TIAHE HROT
3) BT & &KX

4) AT

Teh JUHIFAT Pl IR AR TS
AR T & fes @1 @R & 7

1) Gl & SR

2) YU HEBR

3) famer At @1 SR
4) T FE T
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[31/A]

An organisation structure that
creates dual lines of authority and
combines functional and product

departmentalization is :
1) Complex structure
2) Function structure
3) Matrix structure

4) Production structure

Which one of the following is not a

barrier of effective communication ?
1) Filtering

2) Selective perception

3) Interestlevel

4) Emotions

What right does a consumer have
against unfair trade practices and

exploitation ?

1) Right to Information

2) Right to Equality

3) Right to Seek Redressal

4) None of these

P.T.O.
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111.

112.

T A off 91 § HeW g, 98 I
%I IO FHEaw §

1) oAy
2) oTH 99N
3) STH-HEIEh

4) @-IRT

JUAIRT HEOT ARFEH & TgER

frfofeg & @ ®9-@1 ®99 Tad

g7

1) f@ »\ ¥ us g dHiees
HAwAT A BRI

2) 159 @R ¥ 98 Al A
BT o I T IS
I I

3) o BRH § IR 95 &

4) USF IUAFT MR e H
% AR T BT S Hare
A B ST ® 9 @ 2

[ Level-3/1311]

111.

112.
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The drive to become what a
person is capable of becoming is

called :

1) Self-actualization
2) Self-esteem

3) Self-realization

4) Self-motivating

Which of the following statement is
incorrect according to the

Consumer Protection Act ?

1) District Forum shall consist of a

lady social worker.

2) State Commission shall consist
of a person who is or has been

a judge of a High Court.

3) District Forum shall consist of

four members.

4) National Consumer Disputes
Redressal Commission shall
consist of a person who is or
has been a judge of the

Supreme Court.
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113

114.

115.

. I B9 IR ©

1) GRT B Gedich
2) TN & e
3) (1) &X (2) &
4) T q B T

ol So9 % S/|ET o9 IEF 9 Ui
AT B UHe Fare fogeaxer § f@mn
™R

1) Y et

2) fafvam wfcfafear

3) foxig wiafafemt

4) gE afateEr

-1 ® G-I 9§ Al il
A R @ g w1 ST HA EU
787 I N YA B

El-1 QEl-11

(Rt (3w)

)
(B) AS9

() o= (vre1)

T

Gi) gufy, @ eiR
ST

(iii) @us RATET

(B) AS 10
(C) AS 16

(D) AS 17 (iv) SR a9 A ARG

% -

A B C D
) () @) @) (@iv)
2) () (@) (@[ (v)
3) () @) @(v) (iii)
4) (1) (@) (@(v) (i)

[ Level-3/1311]
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[33/A]

Depreciation is the process of :
1) Valuation of Assets

2) Allocation of cost

3) Both (1) and (2)

4) None of these

Dividend received by other than
financial enterprise is shown in
cash flow statement under :

1) Operating Activities
2) Investing Activities
3) Financing Activities

4) General Activities

Match List-I with List-II and
select the correct answer using
codes given below the lists :

List-I List-II
(Accounting (Objects)
Standards)

(A) AS9 (i) Revenue
Recognition

(B) AS 10 (ii) Property, Plant
and Equipment

(C)AS 16 (iii) Segment
Reporting

(D) AS 17 (iv) Borrowing costs

Codes :

A B C D

1) @ @) i) (@Gv)

2) () (@) () (@)

3) () @) (@v) (iD)

4) () 3i) ([dv) (D)

P.T.O.
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116. F=fafad & @ -1 HF  Tod

1117.

g7
1) T B 99 gaT & 3

2) a9 & I H ®ip I qade |
T%e Bl &, d a9 fage § &
QA ST ST

3) Wl AFd TF MY q9aEy §
e § ST @l &l

4) Rred 4 wE guREl S aeR
T W fe@mn S B

frffeg & & d9-a1 F9 g

z?

1) A Ao @ A @ e,
ferar @ # M B s
ey

2) FHER @B GOE W, Ad W
Td @ TR B AT @ H
e e s ARy

3) o9 A H U T TR HA
F & IO o, o SaAwil @rr
Qe S 2

4) S FhI H G TOUE TH B
& g9 e, o @ A @
Sa=il @A % "eH 9 3l T
ST Bl

[ Level-3/1311]

GET IT ON
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116. Which of the following statement is

111.

incorrect ?

1) Depreciation is an amortised

expenditure.

2) Stock at the end if appears in
the Trial Balance, is taken only

to the Balance Sheet.

3) Fixed costs remain relatively
unaffected in a defined period
of time.

4) TFixed assets are stated in the
Balance Sheet at their market

value.

Which of the following statement is

true ?

1) Rent paid to landlord of the
proprietors house, must be

debited to Rent Account.

2) On purchases of furniture the
amount spent on repairs should

be debited to repairs account.

3) When errors are detected after
preparation of ftrial balance,

suspense account is opened.

4) If the errors are detected after
preparing trial balance, then
all the errors are rectified

through suspense account.
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119.
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g7

1) SYSH SEERT ¥ q@idd UHs

MR ) {3 S &1

2) % T UH aAdaE @ ol
3) W98 Gl & Th d< D

4) IJGHT AMEH T W ARES
Rl 4 gead B

dfey ait @ faee @ A feef
% ®g ¥ Rgmr o ' Q@ fe

ST R
1) T &l IO &% BT
2) Hew@dl H T & BT

3) & & UEH H W &

T

4) THEYAl H TCIT b HRO

[ Level-3/1311]

GET IT ON
Google Play

[35/A]

118. Which of the following statement is

119.

true ?

1) Accrual concept implies

accounting on Cash basis.

2) Bank Account is Real Account.

3) Ledger is a set of Accounts.

4) Accounting is concerned with
monetary and non-monetary

transaction.

Contingent liability is shown a
note below the balance sheet. This

arises out of :

1) Convention of disclosure

2) Convention of materiality

3) Convention of observance of

law

4) Convention of consistency

P.T.O.
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120. TR X a8 &H EER @I, 96

121.

94 & U g W ke ™ 9, ' F
Ul =l {6 RO W A 6l o
™ oA I B OgEd F fm
frefafeg & & d9-@ @@ @
ST ?

1) -8 @rar

2) -8 FEeE @

3) -8B FHENH @l

4) = q i T

SCIMS I (EC iR | e A CRE B )
B WL b AT FIIANLE B
it @&l @ R # AvesE a@
IR T ©

1) gREd=eHd =

2) WF-a9 HIA I A
3) URREfRg =ar

4) YRR S

[ Level-3/1311]
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Partnership accounts of X and Y
were closed for the current year.
Subsequently, it was discovered
that interest on drawings was not
charged. For rectifying the error,
which of the following account will

be opened ?
1) Profit & Loss Account

2) Profit & Loss Appropriation

Account

3) Profit & Loss Adjustment

Account

4) None of these

Leader who guide or motivates
their followers in the direction of
established goals by clarifying

role and task requirements :
1) Transformational leader
2) Transactional leader

3) Situational leader

4) Authentic leader
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1) 9T B
2) TEIDl DA
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1) T
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[37/A]

The mental ability to analyse and

diagnose complex situation is

known as :

1) Human skill

2) Technical skill
3) Complex skill

4) Conceptual skill

Intellectual property rights include :
1) Patents

2) Trade Mark

3) Copyrights

4) All options are right

Who can check the price

fluctuations in the market by

holding back the goods when
prices fall and releasing the goods

when prices rise ?

1) Wholesaler

2) Agent

3) Retailer

4) Mercantile Agent

P.T.O.
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125

126.

1217.

128.

. T 9 ‘T Diue offs aEfefh®

feHe g&e e 9y o ?
1) 1909 2) 1911

3) 1920 4) 1901

e faR & & Ve & U9 dad
% WEaud e At e oy a8
91 9 W S™eEr &

1) SR N GHE
2) &M @ THAT

3) SFIAMAGT i TFeqRaT
4) qET

Frefafed & & @F-91 &Fgeded
oRET YTl @ A 78 © 7

1) g gue

2) YUl bl famheran
3) U@ & == Ard
4) TER AT

ST RO B G FOMER G &
w4 90 e S B, @ & @
T T S @

1) RO H THAS T
2) RO F ik oA
3) FOIHN B T TH
4) B3 AN T A S

[ Level-3/1311]

125.
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In which year Taylor wrote the

book 'The Principles of Scientific

Management' ?

1)
3)

1909 2) 1911

1920 4) 1901

The idea that a subordinate should

have only one supervisor to whom

he or she is directly responsible :

1)
2)
3)
4)

Unity of command
Unity of direction
Readiness of followers

Supervision

Which one of the following is not a

limitation of

computerized

accounting system ?

1)
2)
3)
4)

Security problem
System failure
High cost of training

Flexible reporting

When debentures are issued as

collateral security, interest is paid

on:

1)
2)
3)
4)

Nominal value of debentures
Face value of debentures
Discounted value of debentures

No interest is paid
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R G AN I fhael & Bl STgHfT
g7

1) 6% HERT &

2) 12% WERT &

3) .50% YfdHE QrER TS

4) = Q Hig T
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2

1) H-A @

2) TR g

3) HHR Gl

4) T G FE T

UE g B AgES 9 9 and ©

1) s TEI & M AW
2) U9 g% & M A9
3) %S el B I A9
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T X §ERR & &N d ™
S Sfde R SR ¢

1) JHEwT @ b

2) WERR & $f @n
3) agal @

4) s A ¥F @ A
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[39/A]

In absence of any agreement,
partners are liable to receive
interest on loan at the rate of :

1) 6% simple interest

2) 12% simple interest

3) .50% per month simple interest

4) None of these

Joint Life Policy Account of the

partnersis:

1) Nominal Account

2) Memorandum Account
3) Assets Account

4) None of these

Favourable balance as per Pass

Book means :

1) Debit Balance in Cash Book
2) Debit Balance in Pass Book
3) Credit Balance in Cash Book

4) Credit Balance in Pass Book

At the time of dissolution a liability
takes over by partner is to be
debited to :

1) In Revaluation Account

2) In Partners Capital Account
3) In Realisation Account

4) In Cash or Bank Account

P.T.O.
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134.

R 7
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& & 12% 3l

2) TR F & STgER SIBM AN T
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ek Bl =1fe
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FHamE X R B 9 |
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2) M (IoT@) Tk & & @
ST BT

3) IO % R W Sg/am @
T B AUARIT BT

4) gt ey o& &

[ Level-3/1311]

133.

134.
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Which of the following statement is

correct ?

1) As per Table F rate of interest

on calls in arrear is 12%.

2) As per Table F rate of interest

on calls in advance is 10%.

3) Loss on reissue should exceed

the forfeited amount.

4) Sweat equity shares are those
which are issued to employees

and directors at a discount.

The securities premium amount

may be utilized by a company for :

1) Writing off any loss on sale of

fixed asset

2) Writing off any loss of revenue

nature

3) Writing off the expenses/

discount on issue of debentures

4) All options are right
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[41/A]

The appropriate sequence of the
formation of a company are in the

following order :

1) Promotion, commencement of

business and incorporation

2) Promotion, incorporation,

capital subscription and

commencement of business

3) Capital subscription,
promotion, incorporation and

commencement of business

4) Incorporation, capital

subscription, commencement

of business and promotion

A selection device used to obtain

in-depth information about a

candidate is :

1) Comprehensive interview
2) Stress interview

3) Behavioural interview

4) Personal interview

P.T.O.
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The socialization stage where

individuals confront the possible

dichotomy between their

organizational expectations and
reality is :

1) metamorphosis stage

2) encounter stage

3) pre-arrival stage

4) orientation

Which one of the following is not a

principle of Henri Fayol ?
1) Discipline

2) Remuneration

3) Centralization

4) Decentralization

Software and management
practices designed to serve the
from order

customer through

delivery and after sales service :
1) eCRM

2) ERP

3) E-commerce

4) EDI
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[43/A]

With reference to the Micro, Small,
and Medium Enterprises (MSMEs)

consider the following statements :

A. This sector is the largest
employer of human resources

in India.

B. It generates more employment

opportunities per unit of
capital invested compared to

large industries.

C. These

account for

India

the

industries in
45% of

Industrial units in the country.

How many of the above statements

are correct ?
1) Only A

2) BothA &B
3) BothA&C

4) AllA,B&C

Ogives can be helpful in locating

graphically the :
1) Mean

2) Mode

3) Median

4) None of these

P.T.O.
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The number of subordinates a

manager can efficiently and

effectively direct, is called :
1) Management

2) Centralization

3) Span of control

4) Decentralization

X Ltd. purchased a machine worth
3 2,88,000 and

debentures of ¥ 100 at a discount

in lieu issued

of 4%. The number of debentures

issued will be :
1) 2880
2) 3000
3) 2770

4) None of these

Which of the following transactions

will result into Flow of Cash ?

1) Deposited X 20,000 into bank.

2) Sale of furniture of the book
value of ¥ 7,400 at a loss of
< 900.

3) Converted < 1,00,000 9%
debentures into equity shares.

4) Withdrew cash from bank
< 25,000.
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[45/A]

Nature of goodwill, whose value is
the highest :

1) Ratnature

2) Catnature

3) Dog nature

4) Elephant nature

Consider the following statements :

Assertion (A): In double account

system, the final
accounts of a
company fail to
disclose the true
condition of its

assets.

Reason (R) : Because the assets
of the company
are shown at their
cost price even
when they are
completely worn

out.
Now select your answer according
to the coding scheme given below :

1) Both A and R are correct and R
is the correct explanation of A.

2) Both A and R are correct but R
is not the correct explanation
of A.

3) Aistrue butRis false.
4) Aisfalse butR is true.

P.T.O.
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When one party grants the right to
use the asset to the other party in
return for a periodic payment. It is
known as :

1) Lease financing

2) Factoring

3) Public deposits

4) Debts

On retirement or death of a
partner, assets and liabilities are
to be shown at old values for
which account to be opened is:

1) Profit & Loss Account

2) Revaluation Account

3) Memorandum Revaluation
Account

4) Realisation Account

The total of the sales book is
posted to the credit of the :

1) In debtors account

2) In sales return account

3) In purchases return account

4) None of these

A transaction involving a decrease

in debt-equity ratio and increase

in current ratio is :

1) Issue of debentures against
the purchases of fixed assets

2) Issue of equity shares for cash

3) Issue of debentures for cash

4) Redemption of preference

shares for cash

[ Level-3/1311]
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6. U B JM, I G=h ¥ fraiRg &=t @ & 9| qrEe A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 5 < R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A S, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g ® & @™ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

1. 6 Hﬂq-gﬁﬂ?ﬂ ¥ 39 waee & fe & T@ Tt e W E B / Rough work should be done only in the space provided in the
Question Booklet for the same.

8. T IW 397 OMR IR T& T & A | T IR SAMYEH i X I Tae o @ o0 (FHe wgs) H TAT Mg &1/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

9. UF U & fow Ru U AR e § & ot faeey 3 T OMR ST W W F99 T g9 & & [0 T FM a6 @Re 1 W
Tp d I JifFT B B 9B IY To Tl o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

10. =t gifaa & % 50 oW % B Al T I Ud 39 W A I PN T am ot ot i St W § fEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

11. J-JKH T S T B ANEE T H, F@ie b 9 oRRefy § [peT-gRae S T & BHE 5 R @ R @
@3%_{] {ﬂ'& a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vn@fn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

12. QQ:T—W/BT‘R T 7 ﬁ"\’ T A B 1l e ql% | sEir =@ § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

13, ol B qlen St/ ¥ 9N w Ol UEEM U & SfaRed Rl SR @ ured-anen, a1 ST FIST 1 ufE, T, AeEEd
'#Ff, Wﬁ% JUHT AT FhE ST TR & G B S AT SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

14. WA gRT ‘1@ TN W TG A U AN HE I_'aﬂ o] 3R Te=™ U R@W| / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

15. &= ofed a1 qHaud @ 9w aqgwi%r % fomm ﬁ'% et ST WM T éﬁ%ﬁ / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

16. FHERG THAEh B AT I T [U B 06 BEER G W AR eRER U R ol olen e T eieh Ak el erwedt 1
A0 R WK A W EWRR Te Y qF a8 qA O % I IO T AE Adern & AR Fe Sfd | H A qE S
OMR T % 7 FHiRg @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey T & &6 919 &
& @l WY @ 9 A & & &g oy oniq @l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

11. s@a@*‘rﬁm/mﬁﬁ UReheih 1 SUANT AT 81 / Use of Electronic/Manual Calculator is prohibited.

18. YN & 7 RV & [, v Rerem # & ® ubk/Ren-Few @ 9% & @9 e @ R @ RS e @ ogRa aner &
ol AR # e 9% 3wt o e @ FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

19. el e & QQ:T—W AN TR TF H Eh:fg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

20. TOET @O BN W, ol e/ Bie § U4 IR TS Fe-Tdawd B ofaed A 31 ond oTR | 36 Ue-gRaE @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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